Problem 1

Let T be the tension in the rope between the drum and the pulley, R be the
radius of both the drum and the pulley, and M = 2 kg be the mass of both the
drum and the pulley.
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XTpum = TR = Lgrum®drum = MR Qgrym
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Z“Hmlley =TR—-FR = Ipulley“pulley = EMRZD‘pulley

Fpulley =T+F-Mg= Mapulley = 0
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grum = —&puitey = TR = MR*a and FR — TR = EMRZa
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F=—-(2k 8—)=1176N
- (2kg) (98 ) = 1176
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Problem 5
Conservation of momentum
muﬁo = maﬁf,l + mbz‘fﬂ,
This is an elastic collision, so we can conserve kinetic energy

1 1
mav% = Emavj%a + mevjsz

N —

For m, = my,
Up = Ugs + Upp and v} = vjzra + v%b
To - o = (Ta + Tpp) - (Upa + Tp)
= U% = Z)jzcu + U}b + 25fa . 5fb
= v]%ﬂ + vj%b = vjzcﬂ + vj%b + 20, - Upp
= 5fu : 5fb =0

Since Ty, - U, = 0, the angle between ¢, and Ty, is 90°



	section 1 soln.pdf
	section 1 soln.pdf
	section 1 prob 1 soln.pdf
	section 1 prob 2 soln
	section 1 prob 3 soln
	section 1 prob 4 soln
	section 1 prob 5 soln
	section 1 soln.pdf
	section 1 prob 1 soln.pdf
	section 1 prob 2 soln
	section 1 prob 3 soln
	section 1 prob 4 soln
	section 1 prob 5 soln



	p3
	section 1 soln
	section 1 soln.pdf
	section 1 prob 1 soln.pdf
	section 1 prob 2 soln
	section 1 prob 3 soln
	section 1 prob 4 soln
	section 1 prob 5 soln
	section 1 soln.pdf
	section 1 prob 1 soln.pdf
	section 1 prob 2 soln
	section 1 prob 3 soln
	section 1 prob 4 soln
	section 1 prob 5 soln




